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OeSeI = 2015

likolo = J.lo.A8— & Tkolo = /K. /1 (s — S8
l,VdZany n/L A = Kr.VdZany 37.Buéovice B = Kr,ViZany
2,018any A - Hostérddky B 38.Rousinovec B = Brankovice

3.Rousinovec B = Hodéjice A
4 ,Bulovice B Nevojice A
5eBrankovice Drnovife C
6.HoStice B Orlovice A

2.kolo = /f 0. 45 - NV

39.018any A HosStice B
40,0rlovice A = VdZany n/L A
41,Hostérddky B = Drnovice C
42,Hodéjice A = Nevojice A

8.kolo = LL 4.0 A

TeKro.Vizany = Orlovice A
8.Drnovice C = HoStice B
9.Nevojice A Brankovice
10,Hodéjice A . Bulovice B
11.,Hostéréddky B =Rousinovec B
12,VdZany n/L A = OlSany A

3.kolo = A F. 4045 -8

43,Hodéjice A = Kr,VdZany
44 ,Hostéréddky B = Nevojice A
45.,Drnvice C - VédZany n/L A
46,01l8any A Orlovice A
47.HoStice B - Rousinovec B
48,Butovice B = Brankovice

9¢kolo = 2. /. /E’“S '

13.Kr.Védzany - OlSany A 49,Brankovice = Kr.VidzZany

14 ,Rousinovec B = VdZany n/L A 50.HoStice B - Bufovice B
15.,BuCovice B - Hostéradky B 51l,Rousinovec B = Orlovice A
16.Drnovice C = Hodéjice A 52.018any A = Drnovice C

17.HoStice B

18,0rlovice A

Nevojice A
Drnovice C

4.kolo = LG5 40. /8~ N/
19.Drnovice C = Kr.Vidzany
20.,Nevojice A = Orlovice A
2l,Hodéjice A = HoStice B
22 ,Hostérddky B = Brankovice
23.VéZany n/L A - BucCovice B
24 ,018any A -~ Rousinovec B

5.k0lo = /. (0. f5 ~ &
25.Rousinovec B = Kr,Vazany
264,Buovice B = OlSany A
27¢Brankovice = VaZany »/L A

28.,HoStice B
29,0flovice A

Hostéradky B
Hodé jice A

53.Nevojice A = ViZany n/L A

54 ,Hodé jice A

10 «kolo

Hostéradky B

AR~ ~/

55 .Kr.Va'.iany

56.Va%any n/L A

57001é3ny A

58e.Drnovice C
59.Bucovice B
60¢Brankovice

1l.kolo

Hostéradky B
Hodéjice A
Nevojice A
Rousinovec B
Orlovice A
HoStice B

I2.42. /5~ S

6l.,HoStice B
62 ¢Brankovice
63.Drnovice C

64 sRousinovec B

65.,Hodéjice A

Kr.VéZany
Orlovice A
Budovice B
Nevojice A
OlSany A

30.Nevojice A = Drnovice C 66.ViZzany n/L A - Hostérddky B

6.kolo = .-/ A5~ N/

31.Kr.Vazany - Nevojice A
32,Hodéjice A = Drnowice C
33.0rlovice A = Hostérddky B
34 ,Vé%any m/L A = HoStice B
35.,01l3any A - Brankovice
364Bulovice B = Rousinovec B
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12,kolo =~ [0.4 f6— »V 18.kolo = L1 - 4. 46 — nJ
67.Kr,Vizany = Bucovice B 103.Kr.Vazany - Budovice B
68.Hostérddky B = OlSany A 104 (Brankovice = Rousinovec B
69.Hodéjice A = Rousinovec B 105.,Ho3tice B - OlSany A
TOJNevojice A = Bulovice B 106,VédZany n/L A « Orlovice A
7l.Drnovice C = Brankovice 107.Drnovice ¢ = Hostérddky B
72.0rlovice A = HoStice B 108.Nevojice A = Hod&jice A

13.k0lo = /6 .. /6~ ¢ 19.kolo L# L./[5— £
T73.0rlovice A = Kr,VdZany 109.Kr, ViZany = Hodéjice A
T4 JHoStice B = Drnovice C 110.,Nevojice A = Hostdradky B
75e¢Brankovice - Nevojice A 111,VédZany n/L A = Drnovice C
76e.BuCovice B = Hod&jice A 112,0rlovice A = OlSany A
7T7e.Rousinovec B = Hostérddky B 113.Rousinovec B = Ho3tice B
78.018any A - VdZany n/L A ' 114 .Brankovice = Bulovice B

l4.kolo = LA+ (6 — A/ 20.kolo = (.3, 14 — N/
79.018any A - Kr, VaZany 115.Kr,VazZany = Brankovice
80.,VdZany n/L A = Rousinovec B 116,Budovice B = HoStice B
8l.,Hostériadky B = Budovice B 117.0rlovice A = Rousinovec B
82.,Hodéjice A = Brankovice 118,Drnovice C = OlSany A
83.Nevojice A = Holtice B 119,VédZany n/L A - Nevojice A

84 ,Drnovice C = Orlovice A 120.Hostéradky B - Hodéjice A
15.kolo = H%o.+ /6 —_S 2l.kolo = /2.%.- /(- €
85.Kr.Vidzany = Drnovice C 121.Hostéradky B = Kr,ViZany
86.0rlovice A = Nevojice A 122,Hodéjice A = VaZany n/L A
87.HoStice B - Hodéjice A 123.Nevojice A = OlSany A
88.Brankovice =~ Hostérddky B 124 ,Rousinovec B = Drnovice C
89,BuCovice B = VidZany n/L A 125,0rlovice A = Budlovice B
90.Rousinovec B - OlSany A 126,HoStice B = Brankovice
16kolo - %.2. 46— A/ 22,kolo = J0. % )6—
91.Kr.VaZany - Rousinovec B 127.Kr.VéZany - HoStice B
92,01Sany A - Bulovice B 128,0rlovice A = Brankovice
93.VdZany n/L A = Brankovice 129,Buovice B = Drnovice C
%94 ,Hostérddky B - HoStice B 130.Nevojice A = Rousinovec B
95.Hodéjice A = Orlovice A 131.,018any A - Hodéjice A
96.Drnovice C = Nevdjice A 132.Hostérddky B = VaZany n/L A

17.kolo = /3.2. 46— %

97.Nevojice A = Kr,VdZany
98.Drnovice C = Hodéjice A
99,.Hostérddky B = Orlovice A
100,HoStice B - VaZany n/L A
101.Brankovice = OlSany A
102.Rousinovec B = Budovice B

pree.




